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QUESTION 1

Upon reviewing these requirements it becomes evident to you that the Orchestration compound pattern will need to be
applied. However, there are additional requirements that need to be fulfilled. To build this service composition
architecture, which patterns that is not associated with the Orchestration compound pattern need to also be applied?
(Be sure to choose only those patterns that relate directly to the requirements described above. Patterns associated
with the Orchestration compound pattern include both the required or core patterns that are part of the basic compound
pattern and the optional patterns that can extend the basic compound pattern.)

A. Atomic Service Transaction

B. Compensating Service Transaction

C. Data Format Transformation

D. Data Model Transformation

E. Event-Driven Messaging

F. Intermediate Routing

G. Policy Centralization

H. Process Centralization

I. Protocol Bridging

J. Redundant Implementation

K. Reliable Messaging

L. Service Data Replication

M. State Repository

Correct Answer: CL

QUESTION 2

Service A is a task service that sends Service B a message (2) requesting that Service B return data back
to Service A in a response message (3). Depending on the response received. Service A may be required
to send a message to Service C (4) for which it requires no response.

Before it contacts Service B, Service A must first retrieve a list of code values from its own database (1)
and then place this data into its own memory. If it turns out that it must send a message to Service C, then
Service A must combine the data it receives from Service B with the data from the code value list in order

to create the message it sends to Service C. If Service A is not required to invoke Service C, it can
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complete its task by discarding the code values.

Service A and Service C reside in Service Inventory A. Service B resides in Service Inventory B.
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You are told that the services in Service Inventory A were designed with service contracts based on different design
standards than the services in Service Inventory B. As a result, Service A and Service B use different data models to
represent the data they need to exchange. Therefore, Service A and Service B cannot currently communicate.
Furthermore, Service C is an agnostic service that is heavily accessed by many concurrent service consumers. Service
C frequently reaches its usage thresholds during which it is not available and messages sent to it are not received. How
can this service composition architecture be changed to avoid these problems?

A. The Data Model Transformation pattern can be applied by establishing an intermediate processing layer between
Service A and Service B that can transform a message from one data model to another at runtime. The Intermediate
Routing and Service Agent patterns can be applied so that when Service B sends a response message, a service agent
can intercept the message and, based on its contents, either forward the message to Service A or route the message to
Service C . The Service Autonomy principle can be further applied to Service C together with the Redundant
Implementation pattern to help establish a more reliable and scalable service architecture.

B. The Data Model Transformation pattern can be applied by establishing an intermediate processing layer between
Service A and Service B that can transform a message from one data model to another at runtime. The Asynchronous
Queuing pattern can be applied to establish an intermediate queue between Service A and Service C so that when
Service A needs to send a message to Service C, the queue will store the message and retransmit it to Service C until it
is successfully delivered. The Service Autonomy principle can be further applied to Service C together with the
Redundant Implementation pattern to help establish a more reliable and scalable service architecture.

C. The Data Model Transformation pattern can be applied by establishing an intermediate processing layer between
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Service A and Service B that can transform a message from one data model to another at runtime. The Intermediate
Routing and Service Agent patterns can be applied so that when Service B sends a response message, a service agent
can intercept the message and, based on its contents, either forward the message to Service A or route the message to
Service C . The Service Statelessness principle can be applied with the help of the State Repository pattern so that
Service A can write the code value data to a state database while it is waiting for Service B to respond.

D. None of the above.

Correct Answer: B

QUESTION 3

Service A is a task service that is required to carry out a series of updates to a set of databases in order to complete a
task. To perform the database updates Service A must interact with three other services, each of which provides
standardized data access capabilities.

Service A sends its first update request message to Service B (1), which then responds with a message containing a
success or failure code (2). Service A then sends its second update request message to Service C (3), which also
responds with a message containing a success or failure code (4). Finally, Service A sends a request message to
Service D (5), which responds with its own message containing a success or failure code (6).
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You\l've been asked to change this service composition architecture in order to fulfill a set of new requirements: First, if
the database update performed by Service B fails, then it must be logged by Service

A. Secondly, if the database update performed by Service C fails, then a notification e-mail must be sent out to a human
administrator. Third, if the database update performed by either Service C or Service D fails, then both of these updates
must be reversed so that the respective databases are restored back to their original states. What steps can be taken to
fulfill these requirements?

S$90.09 Practice Test | S90.09 Study Guide | S90.09 Braindumps 4/8


https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html

VCE & PDF https://lwww.geekcert.com/s90-09.html
2024 Latest geekcert S90.09 PDF and VCE dumps Download

GeekCert.com

A. Service A is updated to perform a logging routine when Service A receives a response message from Service B
containing a failure code. Service A is further updated to send an e-mail naotification to a human administrator if Service
A receives a response message from Service C containing a failure code. The Atomic Service Transaction pattern is
applied so that Services A, C, and D are encompassed in the scope of a transaction that will guarantee that if the
database updates performed by either Service C or Service D fails, then both updates will be rolled back.

B. The Compensating Service Transaction pattern is applied to Service B so that it invokes exception handling logic that
logs failed database updates before responding with a failure code back to Service

A . Similarly, the Compensating Service Transaction pattern is applied to Service C so that it issues an e-malil
notification to a human administrator when a database update fails. The Atomic Service Transaction pattern is applied
so that Services A, C, and D are encompassed in the scope of a transaction that will guarantee that if the database
updates performed by either Service C or Service D fails, then both updates will be rolled back. The Service Autonomy
principle is further applied to Service A to ensure that it remains consistently available to carry out this sequence of
actions.

C. The Atomic Service Transaction pattern is applied so that Services A, C, and D are encompassed in the scope of a
transaction that will guarantee that if the database updates performed by either Service C or Service D fails, then both
updates will be rolled back. The Compensating Service Transaction pattern is then applied to all services so that the
scope of the compensating transaction includes the scope of the atomic transaction. The compensating exception logic
that is added to Service D automatically invokes Service B to log the failure condition and Service C to issue the e-mail
notification to the human administrator. This way, it is guaranteed that the compensating logic is always executed
together with the atomic transaction logic.

D. None of the above.

Correct Answer: A

QUESTION 4

Our service inventory contains the following three services that provide invoice-related data access capabilities: Invoice,
InvProc, and Proclnv. These services were created at different times by different project teams and were not required to
comply to any design standards. Therefore each of these services has a different data model for representing invoice
data.

Currently each of these three services has one service consumer: Service Consumer A accesses the Invoice service(1).
Service Consumer B (2) accesses the InvProc service, and Service Consumer C (3) accesses the Proclnv service. Each
service consumer invokes a data access capability of an invoice-related service, requiring that service to interact with
the shared accounting database that is used by all invoice-related services (4, 5, 6).

Additionally, Service Consumer D was designed to access invoice data from the shared accounting database directly

(7). (Within the context of this architecture. Service Consumer D is labeled as a service consumer because it is
accessing a resource that is related to the illustrated service architectures.)
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A project team recently proclaimed that it has successfully applied the Contract Centralization pattern to the service
inventory in which the Invoice service, InvProc service, and Proclnv service reside. Upon reviewing the previously
described architecture you have doubts that this is true. After voicing your doubts to a manager, you are asked to
provide specific evidence as to why the Contract Centralization is not currently fully applied. Which of the following
statements provides this evidence?

A. The Contract Centralization pattern is not fully applied to the Invoice, InvProc, and Proclnv services because they are
being accessed by different service consumers and because they have redundant logic that introduces denormalization
into the service inventory.

B. The Contract Centralization pattern is not fully applied because Service Consumer D is accessing the shared
accounting database directly.

C. The Contract Centralization pattern is not fully applied because none of the invoice- related services are carrying out
data access logic via a centralized and standardized invoice service. This is primarily because the Standardized Service
Contract principle was not consistently applied during the delivery processes of the individual services.

D. None of the above.

Correct Answer: B

QUESTION 5

Service Consumer A sends a message to Service A. Before the message arrives with Service A, it is intercepted by
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Service Agent A (1). which checks the message for compliance to Policy A that is required by Service A. If the message
fails compliance, Service Agent A will not allow it to proceed and will instead write the message contents to a log. If the
message does comply to the policy, it continues to be transmitted toward Service A, but before it arrives it is intercepted
by Service Agent B (2), which validates the security credentials in the message header. If the security credential
validation fails, the message is rejected and a runtime exception is raised. If the security credentials are validated, the
message is sent to Service A.

Upon receiving the message, Service A retrieves a data value from a database and populates the message header with
this data value (3) prior to forwarding the message to Service B. Before the message arrives at Service B. it is
intercepted by Service Agent C (4) which checks the message for compliance with two policies: Policy B and Policy C.
Policy B is identical to Policy A that was checked by Service Agent

A. To check for compliance to Policy C. Service Agent C uses the data value added by Service A. If the message
complies with both of the policies, it is forwarded to Service B (5), which stores the message contents in its own
database.

Service Service Service
Consumer Agent  Agent Service A
A A B g

You are told that Policy B and Policy C have changed. Also, in order to carry out the compliance check of Policy C,
Service Agent C will now require a new data value from the Service B database. How can this service composition
architecture be changed to fulfill these new requirements?

A. The Policy Centralization pattern can be applied so that only one service agent is used to enforce Policy A and Policy
B. Service A is redesigned to first query Service B for the value required by Service Agent C to check the compliance of
the updated Policy C. If the compliance check is successful, the message is sent to Service B .

B. The Policy Centralization pattern can be applied so that only one service agent is used to enforce Policy A and Policy
B. Service Consumer A is redesigned to first query Service B for the value required by Service Agent C. This way,
Service Consumer A can include this value in the message header prior to sending the message to Service A .

C. The Policy Centralization pattern can be applied so that only one service agent is used to enforce Policy A and Policy
B. The policy enforcement logic for Policy C is removed from Service Agent C and instead embedded within the logic of
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Service B . This way, Service B can itself retrieve the value required to check compliance with Policy C. If the message
received is not in compliance, Service B will reject it.

D. None of the above.

Correct Answer: D

S90.09 Practice Test S90.09 Study Guide S90.09 Braindumps

S90.09 Practice Test | S90.09 Study Guide | S90.09 Braindumps 8/8


https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html
http://www.tcpdf.org
https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html
https://www.geekcert.com/s90-09.html

